Durchmesser des Schnitts : bis zu von 2,21 von 3,11 von 4,43 von 6,16 | von 7,51 von 9,01 von 11,01
Qd (mm) 2,20 bis3,10 bis4,42 bis6,15 bis7,50 bis9,00 bis11,00 bis13,50
Toleranz (mm) = 0,08 + 0,09 + 0,10 +0,13 +0,15 .0,18 £ 0,21 .0,25
Durchmesser von 1,80 | von6,70 | von11,80 [ von22,40 | von41,20 |von 82,50 | von 16500 | von300,00 | von670,00 | von 910,00
ich interniere bis 6,30 | bis 11,20 | bis21,20 | bis40,00 | bis80,00 |bis160,00 | bis30000 [ bis65000 | bis910,00 | bis1180,00
(mm)

+0,13 .0,16 +0,19 .0,95%% | . 0,86%* |.078%* | :074%* | .067%* | .060%* | -055%"

Toleranz (mm)




